4 0 &S dlels ol u\
e ploe
v

m ) = o jolS —  qannadSSl 20 90T pU

( sl b )

Protecting the ......... A......... home of the endangered animals is important. When you keep nature clean
and safe, the animals will live ......... B......... . Protecting the trees of the forests is also helpful. If you live
in a village, you need to be very careful about the hunters who come to your village to ......... Covrnene
animals. Whenever you see these people, you need to ......... D......... These are simple works, but they will
help nature ........ Eoorveen .

1-(A)

natural (2 national hopeful @ wonderful

2-(B)

less @ longer instead alive

3-(0

care for (@ take care of protect @ hurt

4-(D)

help them @ call the police listen to them @ find the animals

5-(E)

more @ less @) little @ alot

I always think about my job in the future. | want to be a police officer. Police .......... (A)........ a lot of
things to help people. ......... () B children often go to police officers to take them home. Police
officers are very kind to people. There is one officer who ......... (C)......... stands near our school and takes
the students across the street. | sometimes ......... (D)......... him about his job, and he says he ......... (5 -

at 6:00 and comes here every morning, but he actually loves his job. Now, | am sure that | like to
become a police officer in the future.

6-A

does @ do 3 is doing (@ doesn't do
7-B

Cruel @ Favorite 3@ Lost @ Hard
8-C

never @ always 3 nicely @ fast

9-D

listen @ answer @) ask @ call
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10-E
wakes up

@ gets off

takes out

@ goes out
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